| EREETT ¥ ETETE TEICEE Y

2+ %4
¥ K| i B4 il
1 M K-1 1000 = = H1
FHAE H = S e = 4 Z =X %
1 %% # o |5 207 01 4
2 ~ 7] K 4 22" 48 2
3 T Px% |4 157 48 1
4 3 ik HAsig |4 267 26 3
= K| i FE4E 7 &l
2 M - 1000 = = H2
sy ¥ = i 7, T 7, = % ir
1 A th 4T 4 31”7 55 3
2 = 7] X F 4 46" 99 4
3 T W # 4 09" 60 2
4 2 B R+ A4e 4 08" 43 1
¥-=5 few| 7% p FE4E i)
3 M - 1000 = = H3
sy ¥ = i 7, T 7 = % ir
1 2 B 5 4 20" 81 2
2 % B Rt 4 19" 66 1
3 % E 5k I T% 4 28" 45 4
4 T Bl % |4 217 50 3
= K| i FE4E il
4 M K-1 1000 = = H4
FaE H Ve & Z % % 3x
1 B HEm |4 137 65
2 3 ik ¥iEgy o |4 547 09 3
3 T AT |4 14775 2




| EREETT ¥ ETETE TEICEE Y

+ 4 £
= R Sy FE4E I Hl
5 M K-1 1000 = = H5
g H > peag & Z % % ex
1 3 B L/ 4 58" 56
2 e FE |4 4687 11 2
3 ~ 7] MRk 4 44" 43 1
=t K| i FEAE 7 o
6 M -1 1000 2 = H6
s ¥ = A T A % ir
1 4 B |4 507 37 3
2 3 B %% |3 53" 26 1
3 T A FEp |4 127 06 2
= R Sy FE4E FHl
7 M C-1 1000 = = H1
g H > peag & Z % % ex
1 ¥R ¥E Tk DNS
2 3 ik hiiE (4 237 59 1
3 % K EE (4 347 66 2
4 T A B R |5 07 21 3
Hr=x e % I8 P FEAE FHl
8 M -1 1000 = = H2
Frap H = S A N 2 % % L
1 T LR 5 017 19 3
2 % B atEg |4 127 T3 2
3 | Mr. CaNoe B ET 4 06" 80 1




| EREETT ¥ ETETE TEICEE Y

+ 4 £
Br=k Je v IE P FEAEL ilad
9 M C-1 1000 2 = H1
saE H o e & % 2 % %
1 Ry LErg ! 4 40" 64 1
2 T BB 4 57" 64 2
3 < ] g F 4 59”7 10 3
4 3 B g |5 047 40 4
¥-=c few| 7% p FE4E i)
10 M C-1 1000 2 = H2
Frap H = ¥ = i 2 % %L
1 ~ Faviwe |5 17 60
2 A i % 6 167 44 3
3 ek A 4 35" 43 1
¥= R 5% B FEA il
11 M K-2 1000 2 = H1
wE | H e &% 2 % %
1 | &# | mag H3a |4 017 13 3
2 | ## | R F %% |3 527 45 1
3 | A% | ¥ B (4 367 45 4
4 | 7| TTRNFIFEE |3 54717 2
B=x B % 7P FE4E i)
12 M - 1000 2 = H2
g | H ¥ 7 = i 2 % % L
1 | 7= | 2 #>xF |3 467 53 2
2 | wmiE | ¥EIFo~4kF4As |3 397 68 1
3 | AT | ®AgmoAFE |4 09 76 4
4 | <F | wFHm-mrr |4 08 37 3




| EREETT ¥ ETETE TEICEE Y

+ 4 £
¥= KR 7% B FEAE il
13 JW -1 500 = = H1
g H peaga = 5 - B

| T o £ E 20 117 17 |
2 e ¥ mizre |2 157 87 3
3 =1 dergs |20 457 68 4
4 o H+% (2 117 92 2
= v I8 B FEA 7 o
14 JW K-1 500 = & H2
B H o A N A % 3x
| T o PR GE 2" 207 98
2 o¥ X2 |2 13 64 1
3 o fF+rg (2 157 14 2
= K| i FE4E il
15 M K-1 1000 = = SF1
g H i eaga R & =X AL
1 % B P 3 4 227 95 4
2 % B HESm |4 157 16 2
3 T o I N 4" 15”7 40 3
4 T W E 4 117 38 1
¥=x ) 78 FEAE 7 &l
16 M K- 1000 = = SF2
B H o A N A % 3x
| o P E F 4 38" H4 3
2 = ] R 4 49" 30 4
3 2 ik R+ 4e 4 357 45 |
4 T feg |4 367 82 2




| EREETT ¥ ETETE TEICEE Y

+ 4 £
¥= KR 7% B FEAE il
17 M K-1 1000 2 = SF3
saE H o e & % 2 % %
1 < [F %wEe |4 357 86 3
2 % B B%% |4 027 66 1
3 3 B R 4 03" 05 2
4 T o 5K |4 36”7 60 4
= Jp w) 77 f FEAE FHl
18 W - 500 => = F
sy ¥ = A T 7 = % ir
2 % B % 4R 2 04" 68
3 B ] £ g 2" 02" 179 1
B KR 8 FEAE i)
19 JW K-1 500 2 = F
sy ¥ = A T 7, = % ir
1 o gFFrE |2 23799 4
2 o L 2" 16”7 88 2
3 T b 2 17" 29 3
4 ov % |2 137 91 1
¥= R 5% B FEA il
20 M K-1 1000 = = F
SaE H V2 & % 2 % i
1 % B B%% |3 517 36 2
2 3 B S & |4 267 40 4
3 3 B B E 3 50”7 09 1
4 3 B R 4 05" 50 3




| EREETT ¥ ETETE TEICEE Y

+ % 4
= R Sy FE4E I Hl
21 M C-1 1000 = = F
Bl ¥ peaRe = v W
1 7 4 BE |5 047 57 4
2 | Mr. CaNoe LS 4 117 63 1
3 % B hiE |4 437 T2 3
4 % B aEE |4 197 93 2
= K| i FE4E il
22 M K-1 1000 = = F
sy ¥ = A T A % ir
1 % B R 4 207 11 2
2 2 ik R+ 4w 4 16" 84 1
3 T W # 4 237 43 4
4 % B %% |4 217 99 3
= KR % B PR3 il
23 M - 1000 = = F
Frap H i~ iz N 2 % %o
1 ~ [ i # 5 27" 55 4
2 oy A 4 297 13 1
3 e Ly ! 4 33" 62 2
4 T A& |5 047 50 3
- R 7 FE4E i)
24 W - 500 = = F
B ¥ 2 o 7 = ir
1 B 25 3




| EREETT ¥ ETETE TEICEE Y

+ 4 £
¥= KR 7% B FEAE il
25 JW 500 = = F

s | 8- % 3 4 L= s

I | ##& | $IEF ¥ 54 |1I' 57" 93 1
2 | T | £ smEE |2 137 80 4
3 ¢ | A mEsnx i |20 07 31 2
4 ol RS B er |20 097 49 3
Hr=x e % I8 P FEAE FHl
26 M K-2 1000 2 = F
g | H iz N 7 = %
1 [ =® | af g %% |3 27 01
2 B | S HHRE (3 307 02 3
3 | &k | BB EHLH |3 2T 29 2
= KR i FE4E FHl
27 M C-2 1000 = = F
Bup | H = Wz o~ 5 7, =X e
1 | 2 | puzs ~3=3% |4 367 14
2 | a2k | AEME i |3 58 84 1
3 | B | BRSP4 |4 307 80 2
¥-=5 few| 7% p FE4E i)
28 M K-2 1000 2 = F
sGE | H w7 M 7 = % ir
1 | ==& | 27 R-~%5%% (4 09 80 4
2 | B | BREFHF4 |3 397 T 1
3 | sk | HBE CEE¥E |3 4T 00 2
4 | v | ZEEEHe 2 |3 487 T2 3




| EREETT ¥ ETETE TEICEE Y

&% 24
¥= KR 7% B FEAE il
29 M C- 1000 2 = F
g | H o a4 > 5 r = i
1 X B | FEw Hp DNS
2 | T | BRRP~EZwFE |4 157 64 1
3 TR | B 24 WFac (4 17 96 2
¥-=5 few| 7% p FE4E i)
30 M K- 1000 = & F
fug | H o ey = 5 = s
. BEPF s HAE ,
2 ; 1 1
T T T O
Lo | B & ,
3 |7 o 3T 3 50”7 47 2
B K| i FE4E il
31 W K-4 500 2 & F
wuy | B it > 5 &= AL
.. PlEE S % AR "
3 | %k S R B 1’ 54”7 40 1
B K 7P FE4E i)
32 M -1 200 = = H1
B H i i > 5 = hea
1 2 ik Rd & 427 72 2
2 T PR % 50" 69 4
3 3 4K Bl 40” 25 1
4 7 B R 447 89 3




| EREETT ¥ ETETE TEICEE Y

S
¥= KR 7% B FEAE il
33 M K-1 200 = = H2
g i W =g 7 =X AL
1 3 B R 44” 19
2 R R 46” 33
3 T W & 52”7 00 3
¥-=5 few| 7% p FE4E i)
34 M -1 200 2 & H3
Frap H i~ iz = 2 % %L
1 T R 51”7 67
2 % B g1 3 447 03 1
3 T S g 48” 62
¥= R 3% B FEA il
35 M K-1 200 = = H4
FuE ¥ A S & =X AL
1 7 B e 38”7 43
2 T FIR % 52" 23
3 Mr. CaNoe 5 g 39" 61 2
¥-=5 few| 7% p FE4E i)
36 M C-1 200 2 & H1
B H A & . % 2r
1 B if = i 51”7 26
2 T =% |1 007 T2 3
3 T A A& 54” 28 2
B K| i FE4RE il
37 M C-1 200 2 & H2




| EREETT ¥ ETETE TEICEE Y

& 4
Frap H = S A = AN %L
1 % 35 1§ e 49" 53 2
2 T PR 37 53" 18 3
3 2 ik I 8 49" 00 1
= LA I8 B FEA 7 o
38 M K-2 200 = ¢ H1
wag | 8- i > 4 £ A
1 T | AWk~ FIEE | 467 87
2 | s | A% & Haw | 407 41 1
3 T | X BB £ | 467 41
¥= R 3% B FEA il
39 M K-2 200 = & H2
wug | H o ¥z 2 % 2 s
I [ s® | mrm ke | 427 73 2
2 | &% | B3 Hmx | 417 17 1
= v I8 B FEA 7 o
40 W K-1 200 = = H1
FHAE Y = i 7 = 4 Z =X B3
1 % B FlE 47" 65 1
2 T o PR 3E 4% 54" 30
3 Mr. CaNoe A4S i 49" 40 2
¥ ) 78 f FEAE il
41 W K-1 200 = = H2
g H i e & % z % o
1 T o £ F 56" 00 2
2 ik LR 477 42 1

-10-



| EREETT ¥ ETETE TEICEE Y

N
¥= KR 7% B FEAE il
42 M K-1 200 =~ & SF1
g ¥ Wz = 5 %= e
1 7 B o 46”7 09 4
2 5 B S & 417 29 3
3 7 35 R s 38”7 60 1
4 Mr. CaNoe L g 38”7 90 2
¥-=c few| 7% p FE4E i)
43 M K-1 200 = & SF2
i ¥ Wz & 7, =% %2
1 7 ik i 48" A7 4
2 3 b o 38" 94 1
3 % % EE 397 77 2
4 2 B I K 40” 90 3
¥= R 8 FEA il
44 JW C-1 200 = = F
g H Wz =& % =x s
2 Ry X # i 44”7 21
3 e REk 4 53" 69
5= ) 7 FEA il
45 M -1 200 = = F
B H Wz =g AN s
1 % % B 39" 36 3
2 3 b R 38” 01 1
3 7 35 R s 387 92 2
4 Mr. CaNoe L g 407 24 4

-11-



| EREETT ¥ ETETE TEICEE Y

+ 4 £
¥= KR 7% B FEAE il
46 W K-1 200 2 = F
SR B A > % 2 % % ir
1 T o PR 54" T4 4
2 2 % 548 46” 73 2
3 2 B FlE % 46”7 47 1
4 Mr. CaNoe 45 4 49" 07 3
¥-=c few| 7% p FE4E i)
47 M C-1 200 = = F
P ¥ = A T A % ir
1 T A ¥ B g 53" 61 4
2 3 % A 8 45” 64 2
3 B if = 427 94 1
4 7 3K e 48” 20 3
¥= R 3% B FEA il
48 M K-2 200 2 = F
pur | H e S N e
1 T | E @R | 457 22 4
2 sk | KB FE Ik | 36”7 53 2
3 BB | A% &R | 357 98 1
4 | BB | mxasH2E | 407 40 3

-12-




